EARAROBREBRT —5 XN—ZXBISH—F 202310868 (&) 150EH3E

mc 3— YSR3R/E BRI
[xE&] 1&:560,000H  23&:224,000 W  33%&:140,000 9 . 437&:84,000 W 5 3&:56,000
B RS RS R 1 B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
~ s 5 | TRE 51.8 1-1 7.7 - 1 474 | XEXEB (TR
1 6| MDY 54.0 (-) “1 s
RiXAAZT7—R B:SATVS EIN: e
Wy TTS 3 | EHE= 52.2 2-2 381 — 5 506 | FEEEE (EH)
2011 |BTYYFY 5.0 @172 (13 | EEEE
RiZvF—0Orvb B:7VFI7Y iN=le]
~ v 3 | IRE— 52.3 4-4 37.8| — 6 433 | HERE (BH
3lgl9 | TLUAY 56.0 @) “1 BEAT
RiZTvFE—TAI B:ULIZSR B 1415
N TS Moz . - . - LEFEsEL (FEkF)
4810 K7V VYYTS "R & 7 ’ ?:13) B
RR7VYITSwo B:RINLETFVAH fEE &
- < N {ERARHRE . - . - EAE— (Fk)
1 : BSOS e &k ) A P10 | emEns
RIALNSRYIR BT Reox—Ja hkE &k
= ALEE . - . - =EBE2 (Ef)
6 4| H5TWU—T 4 3 2 5(21)6 10-9 37.4 9 (4+182) /Ng,sl—_;jg
RS/ IVv—0 8 /RUAVik— YYNIOIYTYT7—L
=~ 4 5 | RGBT 52.7 7-8 8.1 — 4 a6 | FAMEE (FEkH)
7 2 IAYVE—=VD 54.0 (3/4) w2 |BlIEX
R:IAYVeAY B IAYV/—T4R RERIS
o=~ » AR - - Ho—I15 (EH)
855 TARS VAR T7 "7 6.0 (572E7\) B EES 8 (4_413; ohy[jfE
RN =)L B:FEeFI1Y FiEaze]
~S42 3 | OEE 52.8 5-5 383 — 8 493 | EBIIMG (FEk)
9177 |PYSAXFIT 5.0 /2 7) | @ TKK
R:ZTU—=FA4 B:AAIO-9IFFY YHAORES
<, S TRl . = . - wErsrE (EH)
10l7|8 | IvI—THXV "3 ED Fsm | 77 b Wl fir =
RiF4—IYITAF« B:0VF—HrOD 7099 T7—AL
@ 11— —BERIEI
13—7F—
20—F—
3J0—73— 6,1,5,9,7,3,2,10,8,4
43— — 6,1,5,9,7,3,10,2,4,8
0 ILRE
BB 6 170 JA R 1-6 350MH & 1-6 1,150 3ER 1-6-9 2,130
B B 6 110 6-9 3704 o 18 1-6 830M4 3Es 6-1-9 7,950
1 2201 1-9 1,0504 oS- 1 6-1 1,070
9 200

ABIC OV TRUTEREERRODDZE. THRIIZEL.



